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1. Introduction

2. Reason for Change
This paper provides a detailed evaluation and comparison of Solution #1 and Solution #2.
3. Conclusions

4. Proposal
It is proposed to agree the following changes to 3GPP TR 29.835.

* * * First Change * * * *
7.3.x1.y2 Evaluation of 3GPP standardizing port from dynamic range (Solution #1)
Solution #1 proposes that 3GPP shall reserve a sub-range of port numbers from the dynamic/private range [49152 - 65535]. 3GPP will standardize a port number from this sub-range for every new interface/application defined by it going forward. The dynamic range [49152 – 65535] is not assigned by IANA as this range has been specifically set aside for local and dynamic use case. So, even if we (3GPP) reserve a sub-range from the dynamic/private port number range, it is unlikely that IETF will agree on recommending to internet community to avoid such port range reserved by 3GPP. This will leave a finite possibility of a port number clash as described in the solution in clause 6.2.2. However, since this solution will be used only for intra-domain uses cases (because IETF/IANA will continue port number allocation for 3GPP inter-domain interfaces) within a 3GPP network, the possibility of a port clash with other application client would be very less and it should be possible to easily avoid/overcome any such port number clash scenarios.
7.3.x1.y3 Evaluation of OAM based solution (Solution #2)
Solution #2 on the other hand proposes that the port number is not standardized by 3GPP. Instead each operator becomes responsible for assigning a port number for each new interface/application. Such port number can be assigned either from the user port number range [1024-49151] or from the Dynamic/Private Port number range [49152 - 65535]. The operator also becomes responsible for avoiding any port number clash. Not using a standardized port number will introduce other problems as described in clause 4.2.1. So, when defining a new SCTP based interface/application, if Solution #2 is used, an SCTP Payload Protocol Identifier (PPID) shall also be defined/standardized for the new application. Generally, the application clients use port numbers from the dynamic/private port number range [49152 - 65535] as the source port while initiating a connection. Many applications use the dynamic/private port number range [49152 - 65535] for internal communications as well. Since in Solution #2, the operator 's OAM allocates the port number, the operator is aware of port numbers from the user port number range [1024-49151] being used in the network. So, it may be beneficial if for Solution #2 the operator allocates free ports from the user port number range [1024-49151] for the new 3GPP interfaces/applications.
Both Solution #1 and Solution #2 avoids larger impacts on the infrastructure (e.g. introducing/managing DNS) and keeps the impact on the application side also to a minimum e.g. no need for implementing support for DNS, mDNS, HTTP based Web server/client or multiplexer etc. Both Solution #1 and Solution #2 have a finite risk of running into port number clash. However, Solution #2 has an advantage over Solution #1, that the port number is not standardized (or fixed) and is managed by the operator's OAM. Solution #2 provides a further flexibility to the operator to also use free ports from the user port number range [1024-49151] which will ensure that there will be no port number clash with any other application clients (both 3GPP and non-3GPP) as the application clients will use port numbers from the dynamic range [49152 - 65535] as a source port.
* * * End of Changes * * * *

